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E#ER A 20,110, 745
MEREETHNES 20,110, 745
EEXBE 20,110, 745
EEAGE 18, 005, 130
EEEWMER 17, 347, 680
| EREMHEES (FERMNE) 24.00 34,090 818,160
A
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E#EEE 2,105,615
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=
BEHERERRE 330, 590
6 BEERERRZEE 1.00 330, 590 330, 590
=
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T REXEBE 1.00 294,030 294,030
=

(BREDEEHE L VEERS 1,200,000

8 XERBEBEEHNSSVEGRES 1.00 1,200, 000 1,200, 000
=

XBRRRHE 28,000

9 REMRRE 1.00 28,000 28,000
=

ETERAE 87,700

10 SETIEHRAE 1.00 87,700 87,700
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BRI 18,005,130 + 2,105, 615 20, 110, 745
BEEAGE 18, 005, 130
BE#RE 2,105, 615
T DA IR { 18,005,130 x 42.86% ( 30% + (1 — 30%) ) 7,716,998
e 2 i 20,110,745 + 7,716,998 27,821,743
—REEEE 27,827,743 x 53.85% ( 35% + (1 — 35%) ) 14,985, 239
KBS 27,827,743 + 14,985,239 42,812,982
HBEREALE 42,812,982 x 10.00% 4,281,298
e EHTL 42,812,982 + 4,281,298 47,094, 280
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A 0.70 48, 700. 00 34,090
= it YEZEREDN - 1.008 34, 090. 00 34,090
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= 1.00 688, 730. 00 688, 730
= it YEZEREN - 1.008 688, 730. 00 688, 730
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A 0.50 48, 700. 00 24, 350
= it 1YEZHER - 1.00[E 24, 350. 00 24, 350
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A 0.50 48, 700. 00 24, 350
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A 0.50 48, 700. 00 24, 350
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A 0.50 48, 700. 00 24, 350
= g YEZERED 1. 00 73, 050. 00 73, 050
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REXEE
= 1.00 294, 030. 00 294,030
= it 1YE%HEH - 1.00K 294, 030. 00 294,030
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& EBAEBEENS K VELRESE 1%y
£ 7 R - BIRTiE BARL 2 BO(f | W E %
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= 1.00 1, 200, 000. 00 1,200, 000
= it 1EZRE .00 1, 200, 000. 00 1,200, 000
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EBHRRE
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& it 1YEZHEH - 1.00K 87, 700. 00 87,700




